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1 A Dipole on an Air/Dielectric Interface

e For a dipole sitting on an air/dielectric interface (n; = 1,n2 = 1.5) calculate the ratio
between the energy radiated into the upper half-space and the energy radiated into the
lower half-space.

e Perform the calculations separately for a horizontal and a vertical dipole.

e Additionally, please calculate the apparent quantum yield, which is defined as the ratio
between the power radiated in the lower half space and the total dissipated power.

We consider a dipole on a surface of transparent material (e.g. glass) and calculate the detected
light on top and under the surface.
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where p is the electric dipole. This equation indicates that we only need to find the dyadic
Green function in the problem situation. In general this Green function is
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For upper part the detector can collect the emitted and reflected light. In order to calculate
the reflected and emitted light we have to find the Green function in each case. We already

<
calculated emitted light from a dipole for free space. In Free space M is:
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The value ro(zo, Yo, 20) = 0 is the position of the dipole. If z = 0 is the position of interface
then the negative sign is for z > zp and the positive sign is for z < zp. Here, the value:
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In order to use Fresnel reflection equation we should split G to s and p polarization and as a

4
result decompose M.
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To calculate the dipole reflected field we simply multiply the individual plane waves in 8 with
the corresponding Fresnel reflection coefficient r* and r?.
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The electric field of upper half-space is
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For transmitted part we have the same scenario
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The electric field of lower half-space is
9 <~
E(r) = w o Grp
We should put each Green function in magnetic field equation.
<~
H(r) = —iw[V x G(ro,r)|p
and then using the Poynting vector to find power density.

(S) = LRe(B x H')

For the calculatiion of Py and P, we mucst calculate the far-field pattern.

The radiation pattern can be written as:

P(Q)dQ =12 < §; > -nig

So, for P;:
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Considering zp = 0 and p = 0 we can write:
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Power in the upper space:
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Consider zg = 0, we can write PTH as follows:

1. 3 [ s 31 s
- hd p|2 2 1,512 2 p__ 2 s
53 /0 [SSZ |7P| +SZ e ] ds 4/0 Re{ sS, r 5" }ds]

we can write PTJ- as follows:

Pl =P
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P#:Po %4—% /01 [;3 ’?”pﬂ ds—i-;)/OlRe{ ;r”}ds]

For P:
P, = P|(allowed) + P ( forbidden)

2 Outcoupling Efficiency of a Dipole out of a Diamond Matrix

e Consider a dipole (SiV color center, A = 738 nm) located 10 nm inside a semi-infinte
diamond medium (n = 2.4). Calculate the apparent quantum yield of the dipole for
vertical and horizontal orientation with respect to the interface with air using geometrical-
optics arguments. Consider light collection in the air medium (n = 1).

Z0=10nm / N2=2.4

Inverted Microscope n1=1

To do this correctly, take z, = 10 nm and the previous expressions for P; and P.
We know the expression for the critical angle:

0 arcsi m arcsi 1
= arcsin| — | ~ arcsin| —
¢ no 24

1
arcsin <24> o~ arcsin(0.24)

0. ~ 24.6°

Thus, we have to consider the emission of the dipole only up to 24.6°.
Since we are in the ray optics picture, we can write:
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Qb.) = /0 dd)/o sinf df = 2w (1 — cosb,.)
1
n = 83% 5(1 — cosb,)

1
n = 83% 5(1 —0.09) ~ 0.83 x 0.045 ~ 3.7%
e Would the apparent quantum yield change in the wave-optics picture?

For a vertical dipole,
P(#,¢) = P 3 Gin20
’ — 10 S

here we assumed that the radiation is in free space.
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Thus for th vertical dipole we get:

1
n’ ~ 83% % [(1 —cosb.) + g(cos3 0. — 1)]

For a horizontal dipole,
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/246,
n" = 83% / (1 — cos?0)(— cos 0) df
4 w/2
we can solve:
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Thus for the horizontal dipole we get:
h 3 1 3
" =83% 1 [2 (1 —cosb.)+ 5(1 — cos 90)]

e Comment on how the fluorescence collection efficiency varies as a function of the numer-
ical aperture of the collection lens for a defect center surrounded by air and surrounded
by diamond.
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Numerical aperture

The collection efficiency is the fraction of photons emitted into a solid angle €2 given by
%. The maximum angle at which the emitted photons to be collected is known as 6. The
fraction F' which is collected in this case will be :

F= %(1 ~ cos0) (1)
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If the photons are collected using a collection optics, lets consider a lens with a numerical
aperture N A, the collection angle modified as follows:

NA
sinf = —
n
where n is the refractive index of the medium surrounding the emitter. The fraction

which is collected within the presence of a collection optics will be :

F= % [1 — cos <sin_1 ]\;A)] 2)

The figure above shows the fluorescence collection efficiency as a function of numerical aperture
of the collection lens for a defect surrounded by air n = 1 (solid line) and surrounded by
diamond, n = 2.4 (dashed line). The curves are plots of Eq. 2 with n = 1 and n = 2.4,
respectively.

From the graph, it is clear that a high- NA objective lens is desirable, for maximising the
optical signal. In the case of observing colour centres in bulk diamond it is cruicial, where the
refraction at the diamond surface substantially reduces the solid angle over which fuorescence
photons can be emitted if they are to couple into the objective lens. Hence, in this case having
higher numerical apertures probably greater than 1 is desirable (eg: use of an oil immersion or
solid immersion lens).
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